Efficiency vs Dxy(PV)
0.5

0.45]
o 0.4
20.35
0.3]
0.25]
0.2
0.15]
0.1

vs dxy(PV)

efficien:

0.05

Ratio

-20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

DN OTTg Ml STEp. PTIO0 SraZporoen
DQM_pixel CPETemplate s&e(g? pt1000_eta2pOto2
DQM_pixelCPETemplateCutChiSquarel0_step2__pt1000_eta2p0to2p5
DQM pixel CPETemplateCutChiSquare15_step2__pt1000_eta2p0to2p5
DQM_pixelCPETemplateCutChiSquare20_step2__pt1000_eta2p0to2p5
D pixelCPETemplateCutChiSquare30_step2__pt1000_eta2p0to2p5

[ Efficiend]

1.2

[y

0.8]

efficiency vs dxy(PV)

0.6}

0.2~

Ratio

0.5

8060402 0 02 04 06 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

O T - TETE PEPES

0.6]

0.5

efficiency vs dz(PV)

0.4

0.3]

0.2]

Ratio

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5]

efficiency vs dz(PV)

0.4F
0.3F

0.2]

0.1

qj

Ratio

0.5

-1 -0.5 0 0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


